

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

Please be informed that the data shown in this PDF document is generated from our online catalog. Please find the complete data in the user documentation. Our general terms of use for downloads are valid.

---



Terminal strip marker carrier, adjustable height, for CLIPFIX 15, CLIPFIX 35, and CLIPFIX 35-5 end brackets, can be marked using labels in 20 x 8 mm format

---

## Your advantages

- The KLM range has been specifically developed for CLIPFIX end brackets
- The precise engagement mechanism enables infinite adjustment of the labeling area height
- The KLM 4 has a centered lettering field and, when mounted on the CLIPFIX 35, can also be mounted between multi-level terminal blocks

# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/it/products/0811970>

## Technical data

### Dimensions

Width	9.30 mm
Height	21.60 mm
Depth	27.32 mm

### Text field

Text field width	20 mm
Text field height	8 mm

### Material specifications

Color	gray (RAL 7042)
Flammability rating according to UL 94	V2
Base element material	PA
Components	halogen-free

### Mounting

Mounting type	plug in
---------------	---------

# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/it/products/0811970>

## Classifications

### ECLASS

ECLASS-13.0	27281105
ECLASS-15.0	27281105

### ETIM

ETIM 10.0	EC002248
-----------	----------

### UNSPSC

UNSPSC 21.0	39121400
-------------	----------

# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/lt/products/0811970>

## Environmental product compliance

### EU RoHS

Fulfills EU RoHS substance requirements	Yes, No exemptions
---	--------------------

### EU REACH SVHC

REACH candidate substance (CAS No.)	No substance above 0.1 wt%
-------------------------------------	----------------------------

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## Accessories

### UC-EMLP (20X8) - Plastic label

0819327

<https://www.phoenixcontact.com/it/products/0819327>



Plastic label, Sheet, white, unmarked, can be labeled with: BLUEMARK E. CARD, BLUEMARK ID COLOR, BLUEMARK ID, BLUEMARK CLED, PLOTMARK, CMS-P1-PLOTTER, mounting type: adhesive, Number of individual labels: 10, text field height: 8 mm, text field width: 20 mm

---

### UC-EMLP (20X8) SR - Plastic label

0828097

<https://www.phoenixcontact.com/it/products/0828097>



Plastic label, Sheet, silver, unmarked, can be labeled with: BLUEMARK E. CARD, BLUEMARK ID COLOR, BLUEMARK ID, BLUEMARK CLED, PLOTMARK, CMS-P1-PLOTTER, mounting type: adhesive, Number of individual labels: 10, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## UC-EMLP (20X8) YE - Plastic label

0822631

<https://www.phoenixcontact.com/it/products/0822631>



Plastic label, Sheet, yellow, unmarked, can be labeled with: BLUEMARK E. CARD, BLUEMARK ID COLOR, BLUEMARK ID, BLUEMARK CLED, PLOTMARK, CMS-P1-PLOTTER, mounting type: adhesive, Number of individual labels: 10, text field height: 8 mm, text field width: 20 mm

---

## US-EML (20X8) - Label

0800458

<https://www.phoenixcontact.com/it/products/0800458>



Label, Card, white, unmarked, can be labeled with: BLUEMARK ID COLOR, BLUEMARK ID, THERMOMARK PRIME, THERMOMARK CARD 2.0, THERMOMARK CARD, THERMOMARK PRIME 2.0, mounting type: adhesive, Number of individual labels: 64, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## US-EML (20X8) YE - Label

0800460

<https://www.phoenixcontact.com/it/products/0800460>



Label, Card, yellow, unmarked, can be labeled with: BLUEMARK ID COLOR, BLUEMARK ID, THERMOMARK PRIME, THERMOMARK CARD 2.0, THERMOMARK CARD, THERMOMARK PRIME 2.0, mounting type: adhesive, Number of individual labels: 64, text field height: 8 mm, text field width: 20 mm

---

## US-EMLF (20X8) YE - Label

0803842

<https://www.phoenixcontact.com/it/products/0803842>



Label, Card, yellow, unmarked, can be labeled with: BLUEMARK ID COLOR, BLUEMARK ID, THERMOMARK PRIME, THERMOMARK CARD 2.0, THERMOMARK CARD, THERMOMARK PRIME 2.0, mounting type: adhesive, Number of individual labels: 64, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EML (20X8)R - Label

0816786

<https://www.phoenixcontact.com/it/products/0816786>



Label, Roll, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 8 mm, text field width: 20 mm

---

## EML (20X8)R YE - Label

0816799

<https://www.phoenixcontact.com/it/products/0816799>



Label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EML (20X8)R/TL - Label

0802999

<https://www.phoenixcontact.com/it/products/0802999>



Label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 1000, text field height: 8 mm, text field width: 20 mm

---

## EML (20X8)RL YE - Label

0816155

<https://www.phoenixcontact.com/it/products/0816155>



Label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 10000, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EML (20X8)RXL - Label

0802762

<https://www.phoenixcontact.com/it/products/0802762>



Label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 20000, text field height: 8 mm, text field width: 20 mm

---

## EML (15X6)R YE - Label

0819288

<https://www.phoenixcontact.com/it/products/0819288>



Label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 6 mm, text field width: 15 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EML (15X6)R - Label

0803275

<https://www.phoenixcontact.com/it/products/0803275>



Label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 6 mm, text field width: 15 mm

---

## EML (15X6)RL YE - Label

0804548

<https://www.phoenixcontact.com/it/products/0804548>



Label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 10000, text field height: 6 mm, text field width: 15 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EMLC (20X8)R - Fabric label

0815680

<https://www.phoenixcontact.com/it/products/0815680>



Fabric label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 8 mm, text field width: 20 mm

---

## EMLC (20X8)R YE - Fabric label

0800235

<https://www.phoenixcontact.com/it/products/0800235>



Fabric label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EMLC (20X8)RL YE - Fabric label

0815800

<https://www.phoenixcontact.com/it/products/0815800>



Fabric label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 10000, text field height: 8 mm, text field width: 20 mm

---

## EML-EX (20X8)R - Label

0803254

<https://www.phoenixcontact.com/it/products/0803254>



Label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 2500, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EMLP (20X8)R - Label

0819482

<https://www.phoenixcontact.com/it/products/0819482>



Label, Roll, white, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 500, text field height: 8 mm, text field width: 20 mm

---

## EMLP (20X8)R BU - Label

1096318

<https://www.phoenixcontact.com/it/products/1096318>



Label, Roll, blue, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 500, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier

0811970

<https://www.phoenixcontact.com/it/products/0811970>

## EMLP (20X8)R RD - Label

1096319

<https://www.phoenixcontact.com/it/products/1096319>



Label, Roll, red, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 500, text field height: 8 mm, text field width: 20 mm

---

## EMLP (20X8)R YE - Label

1096321

<https://www.phoenixcontact.com/it/products/1096321>



Label, Roll, yellow, unmarked, can be labeled with: THERMOMARK E.300 (D)/600 (D), THERMOMARK ROLL 2.0, THERMOMARK ROLL, THERMOMARK ROLL X1, THERMOMARK ROLLMASTER 300/600, THERMOMARK X1.2, mounting type: adhesive, Number of individual labels: 500, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/it/products/0811970>

## LS-EMLP (20X8) SR - Device marker

0831712

<https://www.phoenixcontact.com/it/products/0831712>

Device marker, Sheet, silver, unmarked, can be labeled with: TOPMARK NEO, TOPMARK LASER, mounting type: adhesive, Number of individual labels: 160, text field height: 8 mm, text field width: 20 mm



---

## LS-EMLP (20X8) WH - Device marker

0831685

<https://www.phoenixcontact.com/it/products/0831685>

Device marker, Sheet, white, unmarked, can be labeled with: TOPMARK NEO, TOPMARK LASER, mounting type: adhesive, Number of individual labels: 160, text field height: 8 mm, text field width: 20 mm



# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/it/products/0811970>

## MM-EML (20X8)R C1 WH/BK - Label

1116204

<https://www.phoenixcontact.com/it/products/1116204>



Label, Roll, white/black, unmarked, can be labeled with: THERMOMARK GO, mounting type: adhesive, Number of individual labels: 297, text field height: 8 mm, text field width: 20 mm

---

## MM-EML (20X8)R C1 YE/BK - Label

1116205

<https://www.phoenixcontact.com/it/products/1116205>



Label, Roll, yellow/black, unmarked, can be labeled with: THERMOMARK GO, mounting type: adhesive, Number of individual labels: 297, text field height: 8 mm, text field width: 20 mm

# KLM 4 - Terminal strip marker carrier



0811970

<https://www.phoenixcontact.com/lt/products/0811970>

## BMKL 20X 8 WH - Label sheet, DIN A4

5032280

<https://www.phoenixcontact.com/lt/products/5032280>

Label sheet, DIN A4, Sheet, white, unmarked, can be labeled with: PLOTMARK, CMS-P1-PLOTTER, Office printing systems, mounting type: adhesive, Number of individual labels: 224, text field height: 8 mm, text field width: 20 mm



---

## BMKL 20X 8 YE - Label sheet, DIN A4

5032138

<https://www.phoenixcontact.com/lt/products/5032138>

Label sheet, DIN A4, Sheet, yellow, unmarked, can be labeled with: PLOTMARK, CMS-P1-PLOTTER, Office printing systems, mounting type: adhesive, Number of individual labels: 224, text field height: 8 mm, text field width: 20 mm



---

Phoenix Contact 2026 © - all rights reserved  
<https://www.phoenixcontact.com>

Phoenix Contact UAB  
Svitrigailos str. 11B  
03228 Vilnius  
+370 5 2106321  
[balticinfo@phoenixcontact.com](mailto:balticinfo@phoenixcontact.com)